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I think table 4.8 1s fine and T prefer it to the prior version. My only comment pertains to the new
paragraph following Table 4-8. I do not like the last two sentences in the new paragraph. There
is no need to assert that the probability of ozone having zero effect on mortality as low as the
limiting high case estimate. I have no idea how one would try to substatiate such a statement, but
more to the point, these sentences are not necessary and detract from the main point you wish to
make in the paragraph. I would favor ending the paragraph after the sentence “Because the
probability of this limiting case occurring is relatively low...”. Alternatively, you could strike the
last three sentences and end with “This would generate a benefits estimate considerably higher
than the high estimate in Table 4-8.”




